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1 Introduction
This is a draft CR to 36.101 for the channel arrangements for NB-IoT.
2 Proposed change
<<< Start of changed sub-sections>>>

5.7.1F
Channel spacing for [NB-IoT]
The nominal channel spacing between two adjacent [NB-IoT] carriers is 200kHz.

<<< End of changed sub-sections>>>

<<< Start of changed sub-sections>>>

5.7.3F

Carrier frequency and EARFCN for [NB-IoT]
The carrier frequency in the downlink is designated by the E-UTRA Absolute Radio Frequency Channel Number (EARFCN) in the range 0 – 262143, and an additional offset MDL= -10,-9,-8,-7,-6,-5,-4,-3,-2,-1,-0.5,0,1,2,3,4,5,6,7,8,9 that represent all of the possible offset of [NB-IoT] channel number to EARFCN. The relation between DL carrier frequency in MHz with EARFCN and the offset is given by the following equation

FDL_loT = FDL_low + 0.1(NDL – NOffs-DL) + 0.0025*(2MDL+1),

where FDL_low , NDL and NOffs-DL reuse the Table 5.7.3-1. NDL is the EARFCN that corresponds to [NB-IoT] and is different than the value that corresponds to LTE downlink carrier frequency.
The relation between EARFCN and the carrier frequency in MHz for the uplink is given by the following equation 
FUL_loT = FUL_low + 0.1(NUL – NOffs-UL) + 0.0025*(2MUL), 

Where FUL_low , NUL and NOffs-UL reuse the Table 5.7.3-1 of TS36.101. NUL is the EARFCN that corresponds to [NB-IoT] and is different than the value that corresponds to LTE uplink carrier frequency, and MUL= -10,-9,-8,-7,-6,-5,-4,-3,-2,-1,0,1,2,3,4,5,6,7,8,9 represents all of the possible offset of [NB-IoT] channel number to EARFCN.
<<< End of changed sub-sections>>>

<<< Start of changed sub-sections>>>

5.7.4F

TX–RX frequency separation for [NB-IoT]
For [NB-IoT], the TX-RX frequency separation is flexible within the limits of the TX-RX frequency separation of the E-UTRA carriers as specified in table 5.7.4.1.

<<< End of changed sub-sections>>>

